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SECTION-A |
(15 marks each)

QNN - D
\ (15 woznsh TR3)
|. Answer the following : (15%3=45)
3INT TINert LUB0R0 :
o =B
1) What s Financial Management ? Explain the major financial decisions.
o BEVTORT QeIF B Q0T ? BEIBIS G TR, BR0DTR NS SO0
OR/esgw

Explain the sources that satisfy the short term requirements of funds of a firm.
NTFT BB 9D wd%ﬁéab&gt @qjﬁad TETTOD mra@ﬁqﬁaﬂg% QNWORD.

2) Proforma cost sheet of a company provides the following details.
20T BTN a%‘?,?; T W) Bs 39N aﬁaﬁaﬁ#@ QeI

Elements of Cost Cost/Unit ()
= WIRRORTIT oZred B3 oL T ( gR.)
Raw Material (523, 572) 120
Direct Labour (329) 80
Overhead (aﬁaeeg’dz\i ) 50

P.T.0.
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Total cost per Unit (38 0300637 2, &i ) 2
Profit (<o¢3)

Selling price (&500¢3 W3S)
The following particulars are available :

81 INS QRO OPDT :
a) The proposed production is 22500 Units.
BT FRT 22500 03REF .
b) Raw materials are expected to remain in stores for 3 months.
RRTIHTO, 'u’mu WA QT 220 3 ongb.
c) Material in process ¥2 month.
BRSeHYTS FoB> Y2 Zonsh.
d) Finished goods in stock for 2 months.
,%céaﬁmoc& Roris 30T 2 SorisL.

e) Credit allowed to customers 2 months.

Slag 8

M,BTON VBB O 9T 2 SoMED.
f) Credit allowed by suppliers of materials 1 month.
POND) RT OT 9T WO SONR.
g) Minimum desired cash balance % 50,000.
JRLIFT TR, BRREID S &8 Se. 50,000.
Prepare statement showing estimation of working capital requirement.
53RO WoRmRYRI, 0Tt BRERT AL 0L BOSPORD.
OR/eg=

What is cash management ? Explain the motives for holding cash.
SR VB 0TI ? [T, BROQTOD NTEINTR) DTORO.

3) Whatis capital structure ? Explain the factors influencing the capital structure
of a firm.

QORI T3S 20TBER0 7 WoBTP dziéodssigt NG OROT 90BNII); DROD.
OR/eg=



A

The following details are available relating to a project.
Tpds 1} oromH, DTORLO B3 FFNT0SS.

Cost of the project
(Spres =,)

Life of the project
(SpeR 2eEHRG)
Method of depreciation
(BAET T5E)

Year Cash inflows
)
1 50,000
2 60,000
3 80,000
4 1,40,000
5 1,20,000
Compute the foHowinQ b
B3 FINSRHNT), QRFORD:

a) Payback peripd
Bew T 90
b) Average rate of return
aeBesst Beed 7 DU F
c) NPV at12%
2w 12%

d) Profitability Index at 12%.

@E?;d ‘QOC@EZ 12%.

¥ 3,00,000

gn. 3,00,000

5 years

5 DR

Straight Line Method

R G ﬁ%@
PVofRe.1at12%

0.893
0.797
0.712
0.636
0.567
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SECTION-B
(5 marks each)

QPN - W
(5 ©o3nsd [3T)

Il Answer any six questions: (5%x6=30)
O3RN TTTH BT aj%ﬁe}gbq QUBORD !
1) Explain preference shares and debentures as the source of long term finance.
DeDE RGO BEIRUT DURONTIT JFOD ReBonD IR f3o0sc® aﬂg{ DSORD.
2) Explain the importance of capital budgeting.
TN WSE3OTP R TR0 VFORO.
3) Explain the costs and benefits of extending credit.
VT30 DRTHN ROWORRTOZ aﬁz,a:sr{% TOMR @c&muaﬁﬁe}a’% DRORO.
4) State the techniques of inventory management.
2080 A N BHOD BRI SFRD.
5) Explainthe importance and need for working capital.
BRO0S LoRmIS eigE T TR0 BT DBOD.
6) From the following calculate EOQ as per Tabular Method.
33 %@éﬁzﬁ@ﬁoﬁ)ﬁ@od EOQ) 3,200 DTHTROT FOBILRBOWD.
Order sizes 1000 500 250 100 50
(in Units)
RO0 RERED
Annual consumption : 1000 units
TN WD
Ordering cost: ¥ 100/order
RO0 B8,
Carrying cost : T 1/Unit
2,001 =,
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7) Eromthe following capital structure of a company calculate weighted average
cost of capital.

FPHOR BOTRIOD WP TedS0003 T T R )23 BB,

Sources Amount After tax cost of capital
TORVN (%) (£33,7° ©RITH WorRT ﬁa.i )
Equity Shares 6,00,000 17%

(0,3 Hedonish)

— Preference Shares 2,00,000 15%
(T3 Headonsd)
Retained Earnings 50,000 16%
(o028 o3
Debentures 1,50,000 12%
(o Zg)

8) Calculate financial leverage, operating leverage and combined leverage
from the following :

FIOT SN, BTN TN BOLI OB BORBDRCAD :
Sales — 2000 units @ X 10 per unit

Zomts 2000 CHAVEFTE B3 03 10 B, To3

Variable cost — % 7/unit

R 3 AR, 7 T3 SRR T
Fixed cost ¥ 2,000

Sanlert ﬁzi on. 2,000
Interest - 1,000

we de. 1,000
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SECTION-C
(3 marks each)

QPN - 2
(3 208neh =R3)
[1l. Answer any five questions : (3x5=15)
OIRR)THTER DT @%ﬁ#@t SUBORO
1) What is wealth maximisation ?
B B3,8533e3eBT° OTTERO ?
2) What are the advantages of trade credit ?
T WOT 908 RSN o3ReR)w) ?
3) Write a short note on venture capital.
RTI0° RO Wi 238, 3T LWSO0.
4) What are the stages of operating cycle ?
B eLIon® FFOS TOBNT IR ?
5) State the concepts of cost of capital.
WOBTOP mizﬁ TOBORNIS, SO0

6) Acompany issues ¥ 10,00,000 15% debentures of ¥ 100 each. The company

is in 35% tax bracket. Compute after tax cost of debt, if debentures are
issued at par.

.00 B0z0CIn 8. 10,00,000, 15% wR BOR o BISHZS 100 Be. 1ixmo0es
KRETS. 197 St 36%. FomICTD O TITI 08D LK RR0OK RRBTT
5 5R0308 O TZE SRR BomNLROO.

7) The cost of investment proposal is X 5,00,000. It is expected to generate
series of cash inflows over the 5 years ¥ 50,000, ¥ 60,000, X 2,10,000,
¥2,50,000 and ¥ 2,00,000. Calculate payback period.

pedE 33, 3. 5,00,000
T30 3> BOR 5 IRFEA

gn. 50,000, d». 60,000, dw. 2,10,000, d». 2,50,000 ab@_g on. 2,00,000.
BewR T @a’;@cﬁos& BOTRIGRROND.
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SECTION-D
.. (1 mark each)
PN - 8
(1 208 3R3)
IV. Answer all the questions : (1x10=10)

83 NS QU BINOT VSO0 :
1) What is time value of money ?
SEVIODISTORC rolinery 2039
2) Whatis Pl ?
Pl 20z3deso 9 S

2

3) Whatis reorder level ?
OSBFT° SF® 0TTEO ?
4) What are mutual funds ?
TORT AR 20TTE0 7
5) What is permanent working capital ?
m%é o0 20 OTTERO?
6) What are current assets ?
TR AN oI ?
7) Whatis leverage ?
O3es* Q0T3e ?
8) What are credit terms ?
VT30 BT LTI 03 ?
9) Give the formula to calculate EOQ.
EOQ 30t08R0320: ZRZHI SR
10) What are receivables ?
DRCTICLST DOTITER ?




